Part # Iltem Retail Price UPC Pkg Qty Product Line More Info
1401 FT Blue Titanium Turnbuckles, 1.30"/33mm $8.00 | 784695014015 2 Team Associated | More Info
1409 FT Blue Titanium Turnbuckles, 1.00"/25.5mm $8.00 | 784695014091 2 Team Associated | More Info
1414 FT Blue Titanium Turnbuckles, 1.125" $9.00 | 784695014145 pr Team Associated | More Info
1596 Factory Team Thread Locking Adhesive, blue $6.99 | 784695015968 10ml | Team Associated | More Info
1598 FT Shock End Cap, blue anodized aluminum $13.99 | 784695015982 4 Team Associated | More Info
1703 FT Solid Front or Rear Axle $25.99 | 784695017030 1 Team Associated | More Info
1732 FT Ring Gear, for Heavy Duty One-Way $4.00 | 784695017320 1 Team Associated | More Info
1779 FT Servo Mount, blue aluminum $15.99 | 784695017795 pr Team Associated | More Info
1780 FT Blue Aluminum Shock Bushing, standard $5.99 | 784695017801 4 Team Associated | More Info
1781 FT Shock Bushings, blue aluminum, short $5.99 | 784695017818 4 Team Associated | More Info
1785 FT Graphite Battery Spacer $8.99 | 784695017856 1 Team Associated | More Info
1787 FT Battery Strap Thumbscrews $6.99 | 784695017870 pr Team Associated | More Info
2225 Bumper Top Brace $2.50 | 784695022256 1 Team Associated | More Info
2229 Swing Rack Hardware $7.00 | 784695022294 Set Team Associated | More Info
2368 TC Front or Rear Transmission Cases $5.00 | 784695023680 pr Team Associated | More Info
2405 TC Tires and Inserts $12.00 | 784695024052 2 pr Team Associated | More Info
30101 TC4 Club Racer $249.99 | 784695 301016 1 Team Associated | More Info
31002 FT Carbon Chassis Brace $9.99 | 784695310025 set Team Associated | More Info
31005 FT Molded Carbon Steering Block & Hub Carrier $11.99 | 784695310056 set Team Associated | More Info
31007 FT Molded Carbon Suspension Arm, front $10.99 | 784695310070 pr Team Associated | More Info
31009 FT Molded Carbon Suspension Arm, rear $10.99 | 784695310094 pr Team Associated | More Info
31012 FT Molded Carbon Shock Tower, front $8.99 | 784695310124 1 Team Associated | More Info
31016 FT Caster Block, 2° $5.99 | 784695310162 pr Team Associated | More Info
31017 FT Caster Block, 4° $5.99 | 784695310179 pr Team Associated | More Info
31018 FT Caster Block, 6° $5.99 | 784695310186 pr Team Associated | More Info
31028 TC4 Roll Bar Pivot Cap $1.99 | 784695310285 2 Team Associated | More Info
31034 FT Heavy Duty CVD Bones $21.99 | 784695310346 pr Team Associated | More Info
31035 FT Motor Cooling Duct with Screen $5.99 | 784695310353 1 Team Associated | More Info
31037 FT Motor Cooling Duct/Fan Kit $28.99 | 784695310377 1 Team Associated | More Info
31039 FT Graphite Battery Strap, blue with chrome decal $14.99 | 784695310391 1 Team Associated | More Info
31041 FT Carbon Chassis $39.99 | 784695310414 1 Team Associated | More Info
31047 FT Motor Clamp, blue $27.99 | 784695310476 1 Team Associated | More Info
31048 FT Motor Heatsink, black aluminum $9.99 | 784695310483 1 Team Associated | More Info
31049 FT Motor Heatsink, blue aluminum (for use with #31047) $14.99 | 784695310490 1 Team Associated | More Info
31052 FT Titanium Turnbuckle Kit, with wrench $29.99 | 784695310520 set Team Associated | More Info
31054 TC4 FT Screw Kit, blue aluminum $12.99 | 784695310544 set Team Associated | More Info



http://www.teamassociated.com/parts/details/1401/
http://www.teamassociated.com/parts/details/1409/
http://www.teamassociated.com/parts/details/1414/
http://www.teamassociated.com/parts/details/1596/
http://www.teamassociated.com/parts/details/1598/
http://www.teamassociated.com/parts/details/1703/
http://www.teamassociated.com/parts/details/1732/
http://www.teamassociated.com/parts/details/1779/
http://www.teamassociated.com/parts/details/1780/
http://www.teamassociated.com/parts/details/1781/
http://www.teamassociated.com/parts/details/1785/
http://www.teamassociated.com/parts/details/1787/
http://www.teamassociated.com/parts/details/2225/
http://www.teamassociated.com/parts/details/2229/
http://www.teamassociated.com/parts/details/2368/
http://www.teamassociated.com/parts/details/2405/
http://www.teamassociated.com/parts/details/30101/
http://www.teamassociated.com/parts/details/31002/
http://www.teamassociated.com/parts/details/31005/
http://www.teamassociated.com/parts/details/31007/
http://www.teamassociated.com/parts/details/31009/
http://www.teamassociated.com/parts/details/31012/
http://www.teamassociated.com/parts/details/31016/
http://www.teamassociated.com/parts/details/31017/
http://www.teamassociated.com/parts/details/31018/
http://www.teamassociated.com/parts/details/31028/
http://www.teamassociated.com/parts/details/31034/
http://www.teamassociated.com/parts/details/31035/
http://www.teamassociated.com/parts/details/31037/
http://www.teamassociated.com/parts/details/31039/
http://www.teamassociated.com/parts/details/31041/
http://www.teamassociated.com/parts/details/31047/
http://www.teamassociated.com/parts/details/31048/
http://www.teamassociated.com/parts/details/31049/
http://www.teamassociated.com/parts/details/31052/
http://www.teamassociated.com/parts/details/31054/

31057 FT Anti-Roll Bar Kit (includes 3 bars) $12.99 | 784695310575 set Team Associated | More Info
31058 FT Blue Roll Bar Ballstud $3.99 | 784695310582 2 Team Associated | More Info
31060 FT Polished Hard Hinge Pin Set $9.99 | 784695310605 set Team Associated | More Info
31062 FT Lightened Steel Diff Outdrives $19.99 | 784695310629 pr Team Associated | More Info
31064 FT Aluminum Front Arm Mount, Triangle $12.99 | 784695310643 1 Team Associated | More Info
31065 FT Aluminum Front Arm Mount, Circle $12.99 | 784695310650 1 Team Associated | More Info
31066 FT Aluminum Rear Arm Mount, Square $12.99 | 784695310667 1 Team Associated | More Info
31067 FT Aluminum Rear Arm Mount, X-3.0 $12.99 | 784695310674 1 Team Associated | More Info
31069 FT Aluminum Rear Arm Mount, X-2.0 $12.99 | 784695310698 1 Team Associated | More Info
31070 TC4 Decal Sheet, black and white $2.00 | 784695310704 1 Team Associated | More Info
31071 TC4 Decal Sheet, black and white $3.00 | 784695310711 1 Team Associated | More Info
31076 TC4 V-Type Silver Painted Body $39.99 | 784695310766 1 Team Associated | More Info
31078 TC4 V-Type Red Painted Body $39.99 | 784695310780 1 Team Associated | More Info
31080 TC4 V-Type Wing, Graphite Pattern $6.99 | 784695310803 1 Team Associated | More Info
31090 FT TC4 Chassis, carbon fiber $77.99 | 784695310902 1 Team Associated | More Info
31091 FT TC4 Top Deck, 2.5mm, carbon fiber $32.99 | 784695310919 1 Team Associated | More Info
31095 FT TC4 Top Deck Standoff, blue aluminum $3.99 | 784695310957 1 Team Associated | More Info
31097 FT TC4 Chassis Spine Plate, 2.5mm $12.99 | 784695310971 1 Team Associated | More Info
31098 FT TC4 Spine Plate Mounts, Input Bearing Cap, Antenna Moun $5.99 | 784695310988 set Team Associated | More Info
31100 FT TC4 Front Shock Tower, 2.5mm, carbon $13.99 | 784695311008 1 Team Associated | More Info
31102 FT Shock Tower Mount, carbon $3.99 | 784695311022 1 Team Associated | More Info
31110 FT Lightweight Foam Bumper $4.99 | 784695311107 1 Team Associated | More Info
31111 FT Low Profile Servo Mounts and spacers, carbon $3.99 | 784695311114 set Team Associated | More Info
31120 VCS2 Shock Rebuild Kit $5.99 | 784695311206 1 Team Associated | More Info
31121 VCS2 Shock Cap and Retainer Set $5.99 | 784695311213 1 Team Associated | More Info
31123 FT VCS2 Shock Upgrade Kit $16.99 | 784695311237 set Team Associated | More Info
31125 2-56 X 3/8 FHCS $1.99 | 784695311251 6 Team Associated | More Info
31126 FT TC4 Battery Strap $25.99 | 784695311268 1 Team Associated | More Info
31128 FT Lightweight Steel Diff Kit $39.99 | 784695311282 set Team Associated | More Info
31134 FT TC4 ITF Chassis Plate, 2.5mm $77.99 | 784695311343 1 Team Associated | More Info
31135 FT TC4 ITF Spine Plate, 2.5mm $12.99 | 784695311350 1 Team Associated | More Info
3438 8-32 Blue Aluminum Low Profile Locknut $3.99 | 784695034389 3 Team Associated | More Info
3720 Nylon Wire Tie, 8" $2.00 | 784695037205 12 Team Associated | More Info
3848 Foam Battery Spacer $2.00 | 784695038486 1 Team Associated | More Info
3853 Battery Hold-Down Strap $6.00 | 784695038530 1 Team Associated | More Info
3862 5-40 x 1/8 Set Screw, with wrench $2.50 | 784695038622 6 Team Associated | More Info
3865 Droop Set Screws, 10-32 x 5/16 $1.50 | 784695038653 4 Team Associated | More Info



http://www.teamassociated.com/parts/details/31057/
http://www.teamassociated.com/parts/details/31058/
http://www.teamassociated.com/parts/details/31060/
http://www.teamassociated.com/parts/details/31062/
http://www.teamassociated.com/parts/details/31064/
http://www.teamassociated.com/parts/details/31065/
http://www.teamassociated.com/parts/details/31066/
http://www.teamassociated.com/parts/details/31067/
http://www.teamassociated.com/parts/details/31069/
http://www.teamassociated.com/parts/details/31070/
http://www.teamassociated.com/parts/details/31071/
http://www.teamassociated.com/parts/details/31076/
http://www.teamassociated.com/parts/details/31078/
http://www.teamassociated.com/parts/details/31080/
http://www.teamassociated.com/parts/details/31090/
http://www.teamassociated.com/parts/details/31091/
http://www.teamassociated.com/parts/details/31095/
http://www.teamassociated.com/parts/details/31097/
http://www.teamassociated.com/parts/details/31098/
http://www.teamassociated.com/parts/details/31100/
http://www.teamassociated.com/parts/details/31102/
http://www.teamassociated.com/parts/details/31110/
http://www.teamassociated.com/parts/details/31111/
http://www.teamassociated.com/parts/details/31120/
http://www.teamassociated.com/parts/details/31121/
http://www.teamassociated.com/parts/details/31123/
http://www.teamassociated.com/parts/details/31125/
http://www.teamassociated.com/parts/details/31126/
http://www.teamassociated.com/parts/details/31128/
http://www.teamassociated.com/parts/details/31134/
http://www.teamassociated.com/parts/details/31135/
http://www.teamassociated.com/parts/details/3438/
http://www.teamassociated.com/parts/details/3720/
http://www.teamassociated.com/parts/details/3848/
http://www.teamassociated.com/parts/details/3853/
http://www.teamassociated.com/parts/details/3862/
http://www.teamassociated.com/parts/details/3865/

3874 Block Carrier Bushings $6.00 | 784695038745 4 Team Associated | More Info
3878 Outer Hinge Pin $2.99 | 784695038783 set Team Associated | More Info
3886 CVD Stub Axle, with Hardware $16.00 | 784695038868 2 Team Associated | More Info
3887 Composite CVD Bones $10.00 | 784695038875 4 Team Associated | More Info
3888 FT Blue Aluminum CVD Bones $22.00 | 784695038882 pr Team Associated | More Info
3902 Polycarbonate Transponder Mount with servo tape $2.00 | 784695039025 1 Team Associated | More Info
3903 Drive Pinions $4.00 | 784695039032 2 Team Associated | More Info
3906 D-Drive Ring $1.99 | 784695039063 pr Team Associated | More Info
3908 Molded Composite Outdrives (lightweight) $5.00 | 784695039087 2 pr Team Associated | More Info
3909 Diff Rebuild $8.00 | 784695039094 1 Team Associated | More Info
3912 Long & Short Outdrives, steel (1 ea.) $15.00 | 784695039124 set Team Associated | More Info
3913 FT Lightweight Diff Kit $20.00 | 784695039131 1 Team Associated | More Info
3914 Differential Ring Gear & Drive Pinion Gear $7.00 | 784695039148 2 Team Associated | More Info
3915 Input Shafts, front and rear $13.00 | 784695039155 2 Team Associated | More Info
3916 FT Bearing, 3/16 x 5/16 x .109" $11.00 | 784695039162 pr Team Associated | More Info
3918 Steel Diff Kit $37.95 | 784695039186 1 Team Associated | More Info
3920 Front Input Shaft $5.00 | 784695039209 1 Team Associated | More Info
3921 69 Tooth 48 Pitch Kimbrough Spur Gear $4.00 | 784695039216 1 Team Associated | More Info
3922 72 Tooth 48 Pitch Kimbrough Spur Gear (std kit) $4.00 | 784695039223 1 Team Associated | More Info
3923 75 Tooth 48 Pitch Kimbrough Spur Gear $4.00 | 784695039230 1 Team Associated | More Info
3924 66T 48P Spur Gear $4.00 | 784695 039247 1 Team Associated | More Info
3926 Diff Rebuild Kit $9.00 | 784695039261 1 Team Associated | More Info
3927 FT Radial Clip-on Heatsink $11.00 | 784695039278 1 Team Associated | More Info
3928 FT Radial Clip-on Heatsink, long $13.00 | 784695039285 1 Team Associated | More Info
3929 Motor Clamp Spring and 4-40 x 1.25" Screw $2.00 | 784695039292 1 Team Associated | More Info
3930 Motor Adjustment Cam $8.00 | 784695039308 1 Team Associated | More Info
3931 Motor Adjustment Clamp $10.00 | 784695039315 1 Team Associated | More Info
3932 FT Machined Motor Adjustment Cam $25.00 | 784695039322 1 Team Associated | More Info
3939 FT Front Solid Axle Differential Ring Gear $6.00 | 784695039391 1 Team Associated | More Info
3948 FT On Road Threaded Shock Collar with O-Rings, blue $6.99 | 784695039483 pr Team Associated | More Info
3949 FT Molded Carbon Wheel Hex Adapter $5.00 | 784695039490 4 Team Associated | More Info
3962 FT Anodized Threaded Shock Kit $60.00 | 784695039629 set Team Associated | More Info
3963 FT Anodized Threaded Shock Body & Collar $20.00 | 784695039636 pr Team Associated | More Info
3964 FT Gold Shock Shafts, .35" stroke $12.00 | 784695039643 2 Team Associated | More Info
3965 FT Axle Bearing Spacer, blue $4.00 | 784695039650 4 Team Associated | More Info
3968 FT Counterfeit Transponder $15.00 | 784695039681 1 Team Associated | More Info
3970 FT PTFE Sealed Bearing Set $120.00 | 784695039704 set Team Associated | More Info



http://www.teamassociated.com/parts/details/3874/
http://www.teamassociated.com/parts/details/3878/
http://www.teamassociated.com/parts/details/3886/
http://www.teamassociated.com/parts/details/3887/
http://www.teamassociated.com/parts/details/3888/
http://www.teamassociated.com/parts/details/3902/
http://www.teamassociated.com/parts/details/3903/
http://www.teamassociated.com/parts/details/3906/
http://www.teamassociated.com/parts/details/3908/
http://www.teamassociated.com/parts/details/3909/
http://www.teamassociated.com/parts/details/3912/
http://www.teamassociated.com/parts/details/3913/
http://www.teamassociated.com/parts/details/3914/
http://www.teamassociated.com/parts/details/3915/
http://www.teamassociated.com/parts/details/3916/
http://www.teamassociated.com/parts/details/3918/
http://www.teamassociated.com/parts/details/3920/
http://www.teamassociated.com/parts/details/3921/
http://www.teamassociated.com/parts/details/3922/
http://www.teamassociated.com/parts/details/3923/
http://www.teamassociated.com/parts/details/3924/
http://www.teamassociated.com/parts/details/3926/
http://www.teamassociated.com/parts/details/3927/
http://www.teamassociated.com/parts/details/3928/
http://www.teamassociated.com/parts/details/3929/
http://www.teamassociated.com/parts/details/3930/
http://www.teamassociated.com/parts/details/3931/
http://www.teamassociated.com/parts/details/3932/
http://www.teamassociated.com/parts/details/3939/
http://www.teamassociated.com/parts/details/3948/
http://www.teamassociated.com/parts/details/3949/
http://www.teamassociated.com/parts/details/3962/
http://www.teamassociated.com/parts/details/3963/
http://www.teamassociated.com/parts/details/3964/
http://www.teamassociated.com/parts/details/3965/
http://www.teamassociated.com/parts/details/3968/
http://www.teamassociated.com/parts/details/3970/

3972 FT Wheel Hex Adapters, blue aluminum $15.00 | 784695039728 4 Team Associated | More Info
3973 FT Clamping Hex Drives, Blue Aluminum, with screws $21.99 | 784695039735 4 Team Associated | More Info
3974 FT Aluminum Battery Hold-Down Strap $21.00 | 784695039742 1 Team Associated | More Info
3985 FT Hard Anodized Threaded Shock Kit $39.99 | 784695039858 pr Team Associated | More Info
3988 TC FT Spring Set $34.99 | 784695039889 set Team Associated | More Info
3990 TC FT Hard Anodized Threaded Shock Kit $20.00 | 784695039902 pr Team Associated | More Info
3994 73 Tooth 48 Pitch Kimbrough Spur Gear $4.00 | 784695039940 1 Team Associated | More Info
5407 Red Silicone O-Ring $2.00 | 784695054073 8 Team Associated | More Info
6260 Turnbuckle, 1.00" $3.00 | 784695062603 2 Team Associated | More Info
6261 Turnbuckle, 1.25" $3.00 | 784695062610 pr Team Associated | More Info
6265 Plastic Drag Link $2.00 | 784695062658 1 Team Associated | More Info
6439 FT Shock End Cap, blue anodized aluminum $4.99 | 784695064393 1 Team Associated | More Info
6441 Molded Shock Cap Set $4.00 | 784695064416 4 Team Associated | More Info
6443 Bleeder Shock Cap, 1:10. $6.99 | 784695064430 4 Team Associated | More Info
6463 1:10 Blank Shock Pistons $2.99 | 784695064638 8 Team Associated | More Info
6573 Diff Thrust Washers and Bolt $3.99 | 784695065734 1 Team Associated | More Info
6574 Precision Diff Thrust Ball, 5/64" $2.00 | 784695065741 6 Team Associated | More Info
6579 Associated Diff Drive Ring $1.50 | 784695065796 2 Team Associated | More Info
6582 Diff Thrust Spring $1.50 | 784695065826 1 Team Associated | More Info
6587 Slipper Spring & Locknut $1.50 | 784695065871 set Team Associated | More Info
6903 Bearing, 3/8" X 5/8", PTFE sealed $20.00 | 784695069039 pr Team Associated | More Info
6937 FT 4-40 Aluminum Locknut, blue anodized $5.99 | 784695069374 6 Team Associated | More Info
6943 FT 8-32 Blue Aluminum Locknut $5.99 | 784695069435 6 Team Associated | More Info
6946 FT 4-40 X 5/16" Button Head Cap Screws, blue aluminum $2.00 | 784695069466 6 Team Associated | More Info
6947 FT 4-40 X 3/8" Button Head Cap Screws, blue aluminum $2.00 | 784695069473 6 Team Associated | More Info
6992 Associated Reference Library CD-ROM, v8-15 $11.95 | 784695069923 1 Team Associated | More Info
713 Reedy LiPo 2400mAh 7.4V 20C $77.99 | 784695007130 1 Reedy More Info
7369 1/16" Universal Roll Pins $1.99 | 784695073692 4 Team Associated | More Info
7381 MIP CVD/Uni-Drive Rebuild Kit $8.50 | 784695073814 set Team Associated | More Info
7413 4-40 x 3/4" Button Head Socket Screw $2.00 | 784695074132 6 Team Associated | More Info
7673 FT 4-40 X 5/16" Flat Head Socket Screw $2.00 | 784695076730 6 Team Associated | More Info
7869 FT 4-40x3/4 Flat Head Cap Screw, blue aluminum $4.99 | 784695078697 8 Team Associated | More Info
7873 FT 4-40 x 7/16 Socket Head Cap Screw, blue aluminum $2.99 | 784695078734 8 Team Associated | More Info
7874 4-40 X 7/16" Socket Head Cap Screw, steel $2.50 | 784695078741 8 Team Associated | More Info
8456 VCS Macro Shock Rebuild Kit $4.00 | 784695084568 set Team Associated | More Info
8458 VCS Macro Shock Body, molded composite $4.00 | 784695084582 1 Team Associated | More Info
8566 M2 x 5 SHCS, aluminum $4.99 | 784695 085664 6 Team Associated | More Info



http://www.teamassociated.com/parts/details/3972/
http://www.teamassociated.com/parts/details/3973/
http://www.teamassociated.com/parts/details/3974/
http://www.teamassociated.com/parts/details/3985/
http://www.teamassociated.com/parts/details/3988/
http://www.teamassociated.com/parts/details/3990/
http://www.teamassociated.com/parts/details/3994/
http://www.teamassociated.com/parts/details/5407/
http://www.teamassociated.com/parts/details/6260/
http://www.teamassociated.com/parts/details/6261/
http://www.teamassociated.com/parts/details/6265/
http://www.teamassociated.com/parts/details/6439/
http://www.teamassociated.com/parts/details/6441/
http://www.teamassociated.com/parts/details/6443/
http://www.teamassociated.com/parts/details/6463/
http://www.teamassociated.com/parts/details/6573/
http://www.teamassociated.com/parts/details/6574/
http://www.teamassociated.com/parts/details/6579/
http://www.teamassociated.com/parts/details/6582/
http://www.teamassociated.com/parts/details/6587/
http://www.teamassociated.com/parts/details/6903/
http://www.teamassociated.com/parts/details/6937/
http://www.teamassociated.com/parts/details/6943/
http://www.teamassociated.com/parts/details/6946/
http://www.teamassociated.com/parts/details/6947/
http://www.teamassociated.com/parts/details/6992/
http://www.teamassociated.com/reedy/parts/details/713/
http://www.teamassociated.com/parts/details/7369/
http://www.teamassociated.com/parts/details/7381/
http://www.teamassociated.com/parts/details/7413/
http://www.teamassociated.com/parts/details/7673/
http://www.teamassociated.com/parts/details/7869/
http://www.teamassociated.com/parts/details/7873/
http://www.teamassociated.com/parts/details/7874/
http://www.teamassociated.com/parts/details/8456/
http://www.teamassociated.com/parts/details/8458/
http://www.teamassociated.com/parts/details/8566/

8844 Shock Shaft, .35 stroke $3.00 | 784695088443 1 Team Associated | More Info
8846 Shock Preload Spacer $3.00 | 784695088467 set Team Associated | More Info
9180 Servo Horns, molded $2.50 | 784695091801 set Team Associated | More Info
9274 Diff Thrust Screws and Washers $4.50 | 784695092747 1 Team Associated | More Info
9645 2-56 x 1/8" Button Head Screw $2.00 | 784695096455 6 Team Associated | More Info
9660 2-56 x 7/32" Socket Head Cap Screw $2.00 | 784695096608 6 Team Associated | More Info



http://www.teamassociated.com/parts/details/8844/
http://www.teamassociated.com/parts/details/8846/
http://www.teamassociated.com/parts/details/9180/
http://www.teamassociated.com/parts/details/9274/
http://www.teamassociated.com/parts/details/9645/
http://www.teamassociated.com/parts/details/9660/

